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2003 2004
2003 7.9 2004
3.4 1991
80
-5.7 90
92 99 -6.2
10
1995 1996 1997 1998 1999 2000 2001 2002 2003 2004
( )
4,449.0| 4,643.4( 4,168.7| 3,821.3| 3,586.9] 3,610.0| 3,518.4| 3,509.4| 3,230.6| 3,120.0
(-7.7) 4.4) (-10.2) (-8.3) (-6.1) (0.6) (-2.5) (-0.3) (-7.9) (-3.4)
<-7.7> <4.4> <-10.2> <-8.3> <-6.1> <0.6> <-2.5> <-0.3> <-7.9> <-3.4>
2,774.1| 3,023.9| 2,743.7( 2,583.7| 2,559.1| 2,639.8| 2,604.7( 2,504.0| 2,342.6( 2,288.0
(-10.5) 9.0) (-9.3) (-5.8) (-1.0) (3.2) (-1.3) (-3.9) (-6.4) (-2.3)
<-6.8> <5.6> <-6.0> <-3.8> <-0.6> <2.3> <-1.0> <-2.9> <-4._6> <-1.7>
1,743.5( 1,995.8| 1,727.8| 1,607.1| 1,665.2| 1,744.4] 1,653.8( 1,601.0 1,500.7] 1,434.2
(-10.3) (14.5) (-13.4) (-7.0) (3.6) (4.8) (-5.2) (-3.2) (-6.3) (-4.4)
<-4.1> <5.7> <-5.8> <-2.9> <1.5> <2.2> <-2.5> <-1.5> <-2.9> <-2.1>
1,030.6( 1,028.1| 1,015.9 976.6 893.9 895.5 951.0 903.0 841.9 853.8
(-10.9) (-0.2) (-1.2) (-3.9) (-8.5) 0.2) (6.2) (-5.0) (-6.8) 1.4
<-2.6> <-0.1> <-0.3> <-0.9> <-2.2> <0.0> <1.5> <-1.4> <-1.7> <0.4>
1,674.9( 1,619.5| 1,425.0| 1,237.6( 1,027.8 970.2 913.7] 1,005.4 888.0 832.0
(-2.7) (-3.3) (-12.0) (-13.2) (-17.0) (-5.6) (-5.8) (10.0) (-11.7) (-6-3)
<-1.0> <-1.2> <-4.2> <-4.5> <-5.5> <-1.6> <-1.6> <2.6> <-3.3> <-1.7>
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